
8 ­­­­­­­
­ ­­ ,­­­
­­ ­­ .­

8 ­­ ­ 
1.­­­­ 2.­­ ­­­­
3.­­ 4.­­

  
8 ­­­­­­­­­
­ ­,­­ ­­­
 ­ ­­­­­ .­­ 
­­­ .

 
8  ­/­­­(SI­)
8 /­.­(CGS­)
   
8  ­­,­ ­,­
­­­ ­­ ­.­

8 ­ ­­­­
­­­­.­

8 ­­­­,­­­­
­­­­­/­­­­­.­­
 ­­ ­ ­­­ ­ ­ 
­­­­­ .

8 ­­­ ­­­
­­­­­ .

8 ­ ­ ­­
 ­ ­­ ­   ­ ­ ,
­­­­­­­ ­
­­­.­

8 ­­­­­­­­
­.

 
8 ­ ­  ,­­ ­  ­ 
­­ ­ ­­ .­

8 ­­­­­ ­,­
 ­ ­  ­­ ­ ­ 
.
                       
­­/­­­­­­­­­­­00
 ­­­­­­­­­­­­­­­­­­­­80-90
­­­­­­­­­­­­­­­­900
­­­­­­­­­­­­­­­­­­­­­­­­1350-1400

8 ­ ­  ­ ­ 90­­ 
­ ­­­ ­ ­­
 ­.­ :­

8 ­­ ­90­­­
 ­­­ ­ ­­­ .
 :­­.­­­­­,
 ­­ ­­­­ .­

8 ­ ­90­­­­ ­
 ­ ­­ ­ ­.­ :
­.­

     
8 ­­­ ­
­ ­ .­

8 ­­­­­­
­­­  ­ ­ ­ ­ 
­­­­­­ .

   
8  ­­ ­  ­­­ ­ ­ 
­,­­­­­­.

8 ­­­­­­­­

­ ,­­­­ ­ ­
  ­­.­

8 ­­­­­­
­­­­­­
­­­.­

8 ­­­­­­­
 ­ ­­­­­­
­ ­­­.­

8  ­­ ­ ­­­­
­­­­­­­ ­.­­­­­­­­­­­­­­­­

8  ­­ ­­  ­ ­ ­­­
 ­ ­ .


8 ­­­­,­­­.
8  ­ ­­ ­­ ­
­­­­.

8  ­­ ­­­ 
­­­­­
­ .

8 ­­­­­­­.
1.­­­ 
2.­­­­­­ 
8 ­­­ ­­­ ­ 
 ­­­ ­­­­.­

 
8 ­­­ .­
­­ ­­ .­

8  ­ ­  ­­ ­ ­­­ 
 ­­­.­

8 ­­­­­­­
­ ­­ ­­.

8 ­­­­­ ­­
­­­.­­­
­­­.


8 ­ ­­­­ ­,­ 
 ­­  ­ ­­ ­
 .­

8 =­,­
 
8 ­/­.2,­ /­.2
8 SI­ ­ ­­

8 ­­ ­­.
   
8 ­ ­­­­­­­
­­­­.­

  : ­­­­­
­­­­­­­.­
­ ­ ­­­­­­
­­­.

 :  ­­­ ­ ­ ­
­­­­­ ­.­

 : ­­­­­­
 ­­­­­­­.­

  : ­­ ­­­
­ ­ ­­­­  ­­.

    : ­­­­­­­
­­120/80­mm­of­Hg.­­
­­­­­­­ ­­,
 ­  ­­ .­­­­ ­‘­ 
­­­’­­­­­ ­ .­

 
8 ­­­­­ ­­­­ 
­  .­  ­­ ­  ­
1643­ ­­­ .

8 ­­ ­ ­­­­76
.,­ ­­­­­ .­

8 ­­­­­ ­­­­
­,­­ ­­
­­ ­.

8 ­­­­ ­­­  
­­­­­­­ ­.­

8   : ­ ­­­ ­ 
­­­­­­­.­
­­­­­­­­
­ ­ ­­.­­­­­­­­­­

                 
8 ­ ­­ ­ ­.­
8 ,­­­­­­
 ­ ­ ­  .­ ­ ­ 
­ ­ .­

8  ­­­­­­­­.
 ­­­­ ­ ­
 .­

8  ­ ­  ­ ­ ­­
.­..­1.­ ­,­
2.­­,­ 3.­ ­.

 
8 ­­ ­­­­­­­­
­  ­ ­ ­­­­  
­­­.­

8 ­ ­­   ­  ­ 
,­ ­­ ­­,
 ­­­(­),­
 ­­­­ ­­,
 ­  ­­  ­ 
­­­­.­

8  ­­ ­­­­ ­
­­ .

 
8  ­­­­­­ ­­ ­
 ­ ­­­­ ­­,
­­­­.­
­ ­.­

8  ­­­­­
­­.

   
8  ­­ ,­ ­,­ ­ ,­ 
­­­­­ ­  
­­­­­­­­
­­­­­.­

8 ­­­­­­,­
­ ­­­­­.

8 ­­­ ­  ­­  ­
 ­­­­­­­­
­­­­­­­,
 ­­­­.

8 ­­­ ­ ­­
­.­

   
8 ­­­­­­­
­­­­­­­
­ ­ ­.­­­­
 ­.­

8 ­­­­ ­­ 
 ­ ­­ ­­ ­  

­ ,­ ­ ­­­  
­­.

8 ­ ­­ ­­ ­­ ­
­­,­­­­­
­­.­

8 ­­­,­­­­
 ­­ ­­­­­.­
­­­­­ .

8 ­­=­­ -­
­ ­­.

8 ­­­­­­­­
­­­­­­.­

 
8 ­ ­­­­­
­ ­­.

 : ­ ­  ­ 
­(­ )­­­­ 
­­­  ­­­.
 :­ ­  ­ ­  ­ ­ 
­­­­­­­ ­.­

 : ­­ ­­ 
 ­ ­ ­ ­­ ­
­­.­ :­­ ­
­­­/­­­­.

 : ­­­­
­ ­ ­­­­­ 
­­­­­­­­
.­: ­ ­­  ­ 
­ ­­­ ­­­­
­,­­­­­­.­


8 ­,­­­ ­ ­­­
­­­.­

8 ­­ ,­ ­,­ ­­
­­ ­­ ­­ ­
­­.

8 ­­,­­­­­­
­ ­­­ ­.
­­­ ­ ­ ­­
­ ­ ­ ­­­­­ ­­ 
­­.­

8 ­­­­­ -­ ­
8 ­ ­­ ­­­­­
­ ­­ ­­­­ .

  
8 ­ ­­­­
 ,­ ,­   ­­­­  ­­
.

8 ­­ ­ ­­­­
­­.­

 
8 ­   ­­  ­ ­­ ­ 
­­­­ ­­­­­ 
­­­­­­­ 
­.­­­­­­­
 ­­­­­­­­­
­­­.­

11
C

,­­25 ­2025

www.nipuna.ntnews.com,
www.facebook.com/ntnipuna

,  

l   :    
    .

  

   -       
&         

    .
l  : 26
l : ,­­­­,
­­­

l  : ­­ 
l   :  ­6
l  : www.neist.res.in

    ...

       
     

    .

l  : 197
l : ­­­­,­
-1­­

l  : ­­­,­­,­
­­,­­­

l  : ­­ 
l   :  ­17
l  : www.npcilcareers.co.in

     ...

        
  (  )    

    .

l  : 56
l :   ­­­,­
­­­­­,­
 ­­­­­­­

l  : ­­ 
l   :  ­13
l  : https://www.iitb.ac.in

  ...

 
-,    

 , 

    ?

51. I don't understand what
you are talking.
1) Pronoun 
2) Adjective
3) Conjunctive 
4) Adverb

52. I developed the company
.... has revenue.
1) who 2) whose 
3) when 4) which

53. ... gold is essential to me in
my daughter's marriage.
1) A 2) An 
3) The 4) No article

54. Which is not belongs 
to material noun.
1) Sand 2) beauty 
3) water 4) coal

55. .. Iron is a useful material.
1) A 2) An 
3) The 4) No article

56. Match the following 
sentence:
1) Proper noun 

a) Greatness
2) Collective noun 

b) Rice
3) Common noun 

c) Chandu
4) Material noun    d) Army
5) Abstractive noun e) fruit
1) c, d, e, a, b 
2) c, d, a, e, b
3) c, d, e, b, a 
4) c, d, a, b, e

57. I should get Govt.Job 
in 2025.
1) Command 
2) Possibility
3) Promise 
4) Obligation

58. Which is the right sen-
tence from the following.
1) How long she has 
been selling Mangoes?
2) How long have she 
been selling Mangoes?
3) How long have been 
she selling Mangoes?
4) How long has she been

selling Mangoes?
59. 1) Will be she my relative?

2) Will she not be my 
relative?
3) Won't be she my 
relative?
4) Won't she be my 
relative?

60. If I ...... a bird, I could fly
in the air.
1) am 2) was 
3) were 4) will be

61. She had done maths.
1) Helping verb - 
helping verb
2) Helping verb - main verb
3) Main verb - Helping verb
4) Main verb - main verb

62. If she were C.M., she .....
loans.
1) will 2) could 
3) can 4) must

63. Choose the right sentence
from the following.
1) Some girls work 
very well
2) Has she not been 
working here ?
3) Ravi as well as 
sings songs regularly.
4) The honesty is 
the best policy

64. I saw a girl who is beautiful.
1) Interrogative pronoun
2) Distributive pronoun
3) Relative pronoun
4) Reciprocal pronoun

65. Which idea do you follow
to get DSC ?
1) Pronoun    2) Adjective
3) Adverb 
4) Conjunction

66. Some of girls ....are when
I need.
1) helps 2) help 
3) helped 4) will help

67. When I ..... on the bed, A
cat fell on me.

1) slept 
2) am sleeping
3) was sleeping 
4) will sleep

68. ........ Gold is a precious
metal.
1) A 2) An 
3) The 4) No article

69. Which is the right sen-
tence from the following?
1) Myself called her 
yesterday
2) It is her's choice
3) Ravi has questioned 
her self
4) Time and tide waits 
for none

70. Choose the right sentence ?
1) Why she has done 
Maths ?
2) Where hasn't been 
he working ?
3) Did she did maths ?
4) Does she have money ?

71. Ramya always ....
The meeting.
1) Conduct 
2) Conducting
3) Will conduct 
4) Conducted

72. can I help you? It is a ....
1) Permission 
2) Offering help
3) Command 
4) Ability

73. She need to serve them
(Choose the right question?)
1) Did she need to 
serve them?
2) Need she to serve them ?
3) Does she need to 
serve them ?
4) Need she serve them?

74. Ramya .... to work hard to
get DSC.
1) Dared 2) Always
3) When 4) Used

75. Raghava wrote a letter

yesterday.
1) Regular verb 
2) weak verb
3) Transitive verb 
4) intransitive verb

76. Can I sit here Madam ?
1) Permission 
2) Command
3) Ability 
4) Moral Obligation

77. Bala cheats them.
1) Does Bala cheat them?
2) Does Bala cheats them?
3) Do Bala Cheats them?
4) Can Bala cheat them?

78. We have been driving the
car for two hours.
1) Have we been drive the
car for two hours?
2) Have we been driving the
car for two hours?
3) Has we been driving 
the car for two hours?
4) Have we been driven 
the car for two hours?

79. Smita catches the bus 
regularly.
1) Does smita catches 

the bus Regularly?
2) Does smita catch the bus
Regularly?
3) Do smita catch the bus
regularly?
4) Will smita catch the bus
regularly?

80. They will watch T.V.
1) Will they watch T.V.?
2) Won't they watch T.V.?
3) Do they watch T.V.?
4) Didn't they watch T.V.?

81. They collected money.
1) Did they collected money?
2) Did they collect money?
3) Did they collect money?
4) Will they collect money

82. She sells mangoes.
1) Does she sells mangoes?
2) Does She sell mangoes?
3) Have she sold mangoes?
4) Did she sell mangoes?

83. They did not understand it.
1) Did they understand it?
2) Didn't they understand it?
3) Did they understood it?
4) will they understand it?

84. She is not strong

1) Is the strong?
2) Will she strong?
3) Wasn't she strong?
4) Isn't she strong?

85. ......... America is the 
richest country.
1) a     2) an        3) the 
4) No article

86. Which is the following
material noun.
1) Parliament 2) Office
3) Water     4) Knowledge

87. ..... Honesty is the 
best policy.
1) a 2) an 
3) the 4) No article

88. I saw the beauty of Glance.
1) Adjective 2) Adverb
3) Noun 4) Pronoun

89. ....... Iron is a useful metal
to me.
1) a 2) an 
3) the 4) No article

90. It is my choice.
1) Noun 2) Pronoun
3) Adjective 4) Adverb

91. Something is wrong.
1) Interrogative pronoun
2) Distributive pronoun
3) Demonstrative pronoun
4) Indefinitive pronoun

92. This work belongs to him.
1) Noun 2) Pronoun
3) Adjective 4) Adverb

93. That is not your choice.
1) Noun 2) Pronoun
3) Adjective 4) Adverb

94. Either Srinu or Rajesh ....
to temple Everyday.
1) go 2) goes 
3) gone 4) will go

95. This is not yours.
1) Noun 2) Pronoun
3) Verb 4) Adjective

96. If I .... you, I could solve
any problem.
1) an 2) were 
3) was 4) is

97. She can operate the com-
puter.
1) Irregular verb 
2) Strong verb
3) Transitive verb 
4) Intransitive verb

98. Choose the plural form
from the following 'mouse'
1) mine 2) made 
3) mice 4) miec

99. Choose the plural form of
tooth.
1) Toothen 2) Teeth
3) Toothed 4) Tine

100. Choose the right sen-
tence from the following.
1) Ravi, you and I 
saw a temples
2) You I and Ravi 
saw a temple
3) You, Ravi and I 
saw a temple
4) Ravi, I and you 
saw a temple
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50.4 51.3 52.4 53.3 
54.2 55.4 56.2 57.2
58.4 59.4 60.3 61.2
62.2 63.3 64.3 65.2
66.1 67.3 68.4 69.4
70.4 71.4 72.2 73.4
74.2 75.3 76.1 77.1
78.2 79.2  80.1
81.2 or 3 82.2  83.2 84.4 
85.4 86.3 87.4 88.3 
89.3 90.3 91.4 92.3 
93.2 94.2 95.2 96.2
97.3 98.3 99.2 100.3
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answer



, , , 
  ‘She can operate the Computer’ is a ____verb?


